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Unit 2 Test Review
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Write in Standard form; identify the leading coefficient, degree, number of terms, and name.
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Add, subtract, or multiply. Write the solution in standard form.
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36.5x% + 10x%2 — 7x — 14

35. 7x3 4+ 2x% + 42x + 12
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45, Write an expression of the volume of a rectangular prism that has a width of (x + 3), a length of (x — 2),
and a height of (x + 1) in standard form. Determine the volume of the box if x = 4.
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46. Write an expression of the volume of a rectangular prism that has a width of (2x — 1),a length of (x + 4),
and a height of 3x in standard form. Determine the volume of the boxif x = 2
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47. Write an expression of the volume of a rectangular prism that has a width of (x — 1), a length of (x — 2),
and a height of (x — 4) in standard form. Determine the volume of the boxif x = 5
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48. Write an expression of the volume of a rectangular prism that has a width of (3x + 2), a length of (2x),
and a height of (x + 4) in standard form. Determine the volume of the boxif x = 3
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50. A bottom for a box can be made by cutting congruent squares from each of the four corners of a piece of
cardboard that is 8.5” by 11”.

a. Draw a picture that depicts the bottom of the box.

b. Express the volume of the bottom of the box as a polynomial in standard form.

c. Find the volume when x = 1.
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51. Jill is making an open jewelry box out of a 18 inch square piece of wood, Her first step is to cut congruent
squares from each corner.

a. Draw a picture that depicts Jill's jewelry box.

b. Express the volume of the jewelry box as a polynomial in standard form.

c. lilt is trying to decide if she should cut 3, 5, or 7 inch squares from the corners. Which should she cut to
insure that she will have the biggest volume possible?

d. According to “c”, what will the dimensions of the jewelry be?

52. Mark is wants to make an open treasure box for his little brother’s pirate birthday party. The only material
he has to work with a piece of cedar that is 10 foot by 12 foot.

a. If he must cut 4 equal squares from each corner of the cedar, draw a picture that depicts the treasure box.
b. Express the volume of the treasure box as a polynomial in standard form.

¢. What will the volume of the treasure box be if Mark cuts 4 foot squares from each corner?
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53, Grace is moving the Isle of Palms and running low on boxes. She found a 30 inch square piece of card
board!

a. Assume that the box can be open; if she must cut 4 equal squares from each corner of the cardboard, draw
a picture that depicts the moving box.

b. Express the volume of the moving box as a polynomial in standard form,

c. Grace is trying to decide if she should cut 3, 5, or 7 inch squares from the corners. Which should she cut to
insure that she will have the biggest volume possible?

d. According to “¢”, what will the dimensions of the moving box be?
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